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> = (x,y) —>exp( xz—yz)-(Z-xz-I—yz)

i fi= () o e T (22 4+)7)
(1)

> solve({diff (f(x,y),x) =0,diff (f(x,y),y) =0}, {x,y})
{x=0,y=0}, {x=1,y=0}, {x=—1,y=0}, {x=0,y=1}, {x=0,y=—1}

(2)
> det(H) = diff (f(x,y),x,x)-diff (f(x, — diff (f (x,y)x, ) ,
det==H'—>[%f(Xsy))( foy) ( )
[ > subs(x=0,y=0,det(H))
] 8 ()’
B subs(x=0,y=0,diff (f(x,y),x,x))
i 4¢
B subs(x=1,y=0,det(H))
i 16 (e71)°
[ > subs(x=1,y=0,diff (f(x,y),x,x)) -
-8e
[ > subs(x=-1,y=0, det(H) )
I 16 (7’
[ > subs(x=-1,y=0,diff (f(x,y),x,x)) -
-8e
> subs(x=0,y=1,det(H) )
i 8 (e_l)2
[ > subs(x=0,y=-1, det(H) )
i 8 (e_l)2
(> £(0,0)
i 0
(> £(1,0)
2¢7!
>
[ > f(-1,0)
i 2¢7!
(000 f(1,0=f(-1,0)=2/e
| (100 f(0,0)=0
=>
L(3)
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